## Viscosity Approximation Methods for Equilibrium Problems in Hilbert Spaces Involving the New Iterative Process with Error

RAO Ruo Feng, ZHANG Shi Sheng (Department of Mathematics, Yibin College, Sichuan 644000, China) (E-mail: rrf2@163.com)

**Abstract** In this paper, we introduce an iterative scheme with error by the viscosity approximation method for finding a common element of the set of solutions of an equilibrium problem and the set of fixed points of a nonexpansive mapping in a Hilbert space. A strong convergence theorem is given, which generalizes all the results obtained by S.Takahashi and W.Takahashi in 2007. In addition, some of the methods applied in this paper improve those of S.Takahashi and W.Takahashi.

Keywords viscosity approximation method; equilibrium problem; nonexpansive mapping.

Document code A MR(2000) Subject Classification 47H09; 65J15 Chinese Library Classification 0177.91

## 1. Introduction and preliminaries

Let H be a real Hilbert space with inner product  $\langle \cdot, \cdot \rangle$  and norm  $\|\cdot\|$ , C be a nonempty closed convex subset of H, and  $\mathbb{N} = \{1, 2, 3, \ldots\}$  be the set of natural numbers. Assume, F is a bifunction of  $C \times C$  into  $\mathbb{R}$ , where  $\mathbb{R}$  is the set of real numbers. The equilibrium problem for  $F: C \times C \to \mathbb{R}$  is to find  $x \in C$  such that

$$F(x,y) \ge 0, \quad \forall y \in C. \tag{1.1}$$

The set of solutions of (1.1) is denoted by EP(F). Given a mapping  $T: C \to H$ , let  $F(x, y) = \langle Tx, y - x \rangle$  for all  $x, y \in C$ . Then,  $z \in EP(F)$  if and only if  $\langle Tz, y - z \rangle \geq 0$  for all  $y \in C$ , i.e., z is a solution of the variational inequality. Numerous problems in Physics, optimization, and economics reduce to find a solution of (1.1). Some methods have been proposed to solve the equilibrium problem. Very recently, S.Takahashi and W.Takahashi<sup>[1]</sup> studied an iterative scheme of finding the best approximation to the initial data when EP(F) is nonempty. In addition, there are several papers studying the same problem, such as [2], [3], [10] and so on.

**Definition 1.1** A mapping S of C into H is called nonexpansive if

$$||Sx - Sy|| \le ||x - y||, \quad \forall x, y \in C.$$

Received date: 2007-04-02; Accepted date: 2007-11-22

Foundation item: the Youth Founcation of Sichuan Educational Committee (No. 08ZB002).

Let  $\operatorname{Fix}(S)$  be the set of fixed points of the mapping S. If  $C \subset H$  is bounded, closed and convex and S is a nonexpansive mapping of C into itself, then  $\operatorname{Fix}(S)$  is nonempty<sup>[4]</sup>.

**Definition 1.2** A mapping  $P_C$  is called the metric projection of H onto C, if for any  $x \in H$ , there exists a unique nearest point in C, denoted by  $P_C(x)$ , such that

$$||x - P_C(x)|| \le ||x - y||, \quad \forall y \in C.$$

We know that  $P_C$  is nonexpansive. Further, for  $x \in H$  and  $z \in C$ ,

$$z = P_C x \Leftrightarrow \langle x - z, z - y \rangle \ge 0, \quad \forall y \in C.$$

We also know that for any sequence  $\{x_n\} \subset H$  with  $x_n \rightharpoonup x$ , the inequality

$$\liminf_{n \to \infty} \|x_n - x\| < \liminf_{n \to \infty} \|x_n - y\|$$

holds for every  $y \in H$  with  $x \neq y$ , see [4,5] for more detail. Here we denote weak convergence by  $\rightarrow$ .

To solve the equilibrium problem for a bifunction  $F : C \times C \to \mathbb{R}$ , let us assume that F satisfies the following conditions

- (A<sub>1</sub>) F(x, x) = 0 for all  $x \in C$ ;
- (A<sub>2</sub>) F is monotone, i.e.,  $F(x, y) + F(y, x) \le 0$  for all  $x, y \in C$ ;
- (A<sub>3</sub>) for each  $x, y, z \in C$ ,

$$\lim_{0 \le t \to 0} F(tz + (1 - t)x, y) \le F(x, y);$$

(A<sub>4</sub>) for each  $x \in C$ ,  $y \to F(x, y)$  is convex and lower semicontinuous.

The following lemma appears implicitly in [6].

**Lemma 1.1**<sup>[6]</sup> Let C be a nonempty closed convex subset of H and let F be a bifunction of  $C \times C$  into  $\mathbb{R}$  satisfying  $(A_1)-(A_4)$ . Let r > 0 and  $x \in H$ . Then, there exists  $z \in C$  such that

$$F(z,y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \quad \forall y \in C.$$

**Lemma 1.2**<sup>[2]</sup> Assume that  $F: C \times C \to \mathbb{R}$  satisfies  $(A_1)-(A_4)$ . For r > 0 and  $x \in H$ , define a mapping  $T_r: H \to C$  as follows:

$$T_r(x) = \{ z \in C : F(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \quad \forall y \in C \}$$

for all  $x \in H$ . Then, the following holds:

- (1)  $T_r$  is single-valued,
- (2)  $T_r$  is firmly nonexpansive, i.e., for any  $x, y \in H$ ,

$$||T_r x - T_r y||^2 \le \langle T_r x - T_r y, x - y \rangle,$$

(3)  $F(T_r) = EP(F)$ ,

(4) EP(F) is closed and convex.

In 2007, S.Takahashi and W.Takahashi<sup>[1]</sup> proved the following strong convergence theorem:

**Theorem**  $\mathbf{A}^{[1]}$  Let C be a nonempty closed convex subset of H. Let F be a bifunction from

 $C \times C$  to  $\mathbb{R}$  satisfying  $(A_1)-(A_4)$  and let S be a nonexpansive mapping of C into H such that  $\operatorname{Fix}(S) \cap \operatorname{EP}(F) \neq \emptyset$ . Let f be a contraction of H into itself and let  $\{x_n\}$  and  $\{u_n\}$  be sequences generated by  $x_1 \in H$  and

$$\begin{cases} F(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, & \forall y \in C, \\ x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) S u_n, \end{cases}$$

for all  $n \in \mathbb{N}$ , where  $\{\alpha_n\} \subset [0,1]$  and  $\{r_n\} \subset (0,\infty)$  satisfy

$$\lim_{n \to \infty} \alpha_n = 0, \quad \sum_{n=1}^{\infty} \alpha_n = \infty, \quad \sum_{n=1}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty,$$
$$\liminf_{n \to \infty} r_n > 0, \quad \sum_{n=1}^{\infty} |r_{n+1} - r_n| < \infty.$$

Then,  $\{x_n\}$  and  $\{u_n\}$  converge strongly to  $z \in Fix(S) \cap EP(F)$ , where  $z = P_{Fix(S) \cap EP(F)}f(z)$ . In this paper, we introduce the new iterative process with error, which is as follows

$$\begin{cases} F(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, & \forall y \in C, \\ x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n - \gamma_n) S u_n + \gamma_n v_n, \end{cases}$$
(1.2)

where  $\{\alpha_n\}, \{\gamma_n\}$  are two real sequences in [0,1] with  $\alpha_n + \gamma_n \leq 1$ ,  $\{r_n\} \subset (0, \infty)$ , both  $\{x_n\}$ and  $\{u_n\}$  are sequences generated by  $x_1 \in H$  and the iteration (1.2),  $v_n$  is a bounded sequence in H.

In this paper, we will give a strong convergence theorem of the iteration (1.2). Thereby, we also need the following lemma, which can be proved similarly as the proof of [7, P.171] or [8, Lemma 1] or [9].

**Lemma 1.3**<sup>[9]</sup> Let  $\{a_n\} \subset [0,\infty), \{b_n\} \subset [0,\infty), \{c_n\} \subset [0,\infty)$  be sequences of real numbers such that

$$a_{n+1} \le (1-h_n)a_n + b_n + c_n, \quad \forall n \ge n_0,$$

where  $h_n \subset [0,1]$  is a nonnegative real sequence with  $\sum_{n=1}^{\infty} h_n = \infty$ ,  $b_n = o(h_n)$  and  $\sum_{n=1}^{\infty} c_n < \infty$ . Then  $\lim_{n \to \infty} a_n = 0$ .

## 2. Main results

Now we give the main results of this paper.

**Theorem 2.1** Let *C* be a nonempty closed convex subset of *H*. Let *F* be a bifunction from  $C \times C$  to  $\mathbb{R}$  satisfying  $(A_1)-(A_4)$  and let *S* be a nonexpansive mapping of *C* into *H* such that  $Fix(S) \cap EP(F) \neq \emptyset$ . Let *f* be a contraction of *H* into itself with the contractive constant  $\alpha \in (0, 1)$ , and let  $\{x_n\}$  and  $\{u_n\}$  be sequences generated by  $x_1 \in H$  and the iteration (1.2).  $\{v_n\}$  is a bounded sequence in H,  $\{\alpha_n\}$ ,  $\{\gamma_n\} \subset [0, 1]$  and  $\{r_n\} \subset (0, \infty)$  satisfy

$$\lim_{n \to \infty} \alpha_n = 0, \quad \sum_{n=1}^{\infty} \alpha_n = \infty, \quad \sum_{n=1}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty,$$

$$\liminf_{n \to \infty} r_n > 0, \quad \sum_{n=1}^{\infty} |r_{n+1} - r_n| < \infty, \quad \sum_{n=1}^{\infty} \gamma_n < \infty.$$

Then,  $\{x_n\}$  and  $\{u_n\}$  converge strongly to  $z \in Fix(S) \cap EP(F)$ , where  $z = P_{Fix(S) \cap EP(F)}f(z)$ .

**Proof** For any given  $v \in Fix(S) \cap EP(F)$ , by the assumptions of Theorem 2.1 we know that there exists a corresponding constant M > 0 such that

$$||x_1|| + ||f(v)|| + ||v|| + ||v_n|| \le M, \quad \forall n \in \mathbb{N}.$$
(2.1)

Let  $Q = P_{\text{Fix}(S) \cap \text{EP}(F)}$ . Then Qf is a contraction of H into itself. Since H is complete, there exists a unique element z = Qf(z).

It is obvious that  $||x_1 - v|| \le M \le \frac{M}{1-\alpha}$ . Assuming that  $||x_n - v|| \le \frac{M}{1-\alpha}$ , we will prove that  $||x_{n+1} - v|| \le \frac{M}{1-\alpha}$ . i.e.,  $\{x_n\}$  is bounded.

Indeed, by (1.2),(2.1) and Lemma 1.2, we have

$$\begin{aligned} \|x_{n+1} - v\| &= \|\alpha_n f(x_n) + (1 - \alpha_n - \gamma_n) S u_n + \gamma_n v_n - v\| \\ &\leq \alpha_n \|f(x_n) - v\| + (1 - \alpha_n - \gamma_n) \|S u_n - v\| + \gamma_n \|v_n - v\| \\ &\leq \alpha_n (\alpha \|x_n - v\| + \|f(v) - v\|) + (1 - \alpha_n - \gamma_n) \|u_n - v\| + \gamma_n M \\ &\leq \alpha \alpha_n \|x_n - v\| + \alpha_n \|f(v) - v\| + (1 - \alpha_n - \gamma_n) \|T_{r_n} x_n - v\| + \gamma_n M \\ &\leq \alpha \alpha_n \|x_n - v\| + \alpha_n M + (1 - \alpha_n - \gamma_n) \|x_n - v\| + \gamma_n M \\ &\leq (1 - (\alpha_n + \gamma_n)(1 - \alpha)) \|x_n - v\| + (\alpha_n + \gamma_n) M \leq \frac{M}{1 - \alpha}. \end{aligned}$$

This implies that  $\{x_n\}$  is bounded. i.e., we have

$$||x_n - v|| \le \frac{M}{1 - \alpha}, \quad \forall n \in \mathbb{N}.$$
 (2.2)

By (2.2) we know that  $\{x_n\}$  is bounded, which implies that  $\{u_n\}$ ,  $\{Su_n\}$  and  $\{f(x_n)\}$  all are bounded. i.e., for any given  $v \in Fix(S) \cap EP(F)$ , there exists a corresponding constant  $M_0 > 0$ such that

$$M + ||z|| + ||x_n|| + ||u_n|| + ||v_n|| + ||f(x_n)|| + ||Su_n|| \le M_0, \quad n \in \mathbb{N}.$$
(2.3)

Next, we want to prove

$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$
(2.4)

Indeed, by (1.2) and (2.3) we have

$$\begin{aligned} \|x_{n+1} - x_n\| \\ &= \|\alpha_n f(x_n) - \alpha_n f(x_{n-1}) + \alpha_n f(x_{n-1}) - \alpha_{n-1} f(x_{n-1}) + (1 - \alpha_n - \gamma_n) S u_n \\ &- (1 - \alpha_n - \gamma_n) S u_{n-1} + (1 - \alpha_n - \gamma_n) S u_{n-1} - (1 - \alpha_{n-1} - \gamma_{n-1}) S u_{n-1} + \\ &\gamma_n v_n - \gamma_n v_{n-1} + \gamma_n v_{n-1} - \gamma_{n-1} v_{n-1}\| \\ &\leq \alpha_n \|f(x_n) - f(x_{n-1})\| + |\alpha_n - \alpha_{n-1}| \cdot \|f(x_{n-1})\| + (1 - \alpha_n - \gamma_n)\| S u_n - S u_{n-1}\| + \\ &|(1 - \alpha_n - \gamma_n) - (1 - \alpha_{n-1} - \gamma_{n-1})| \cdot \|S u_{n-1}\| + \\ &\gamma_n \|v_n - v_{n-1}\| + |\gamma_n - \gamma_{n-1}| \cdot \|v_{n-1}\| \end{aligned}$$

Viscosity approximation methods for equilibrium problems

$$\leq \alpha_n \alpha \|x_n - x_{n-1}\| + |\alpha_n - \alpha_{n-1}| M_0 + (1 - \alpha_n - \gamma_n) \|u_n - u_{n-1}\| + (|\alpha_n - \alpha_{n-1}| + \gamma_n + \gamma_{n-1}) M_0 + 2\gamma_n M_0 + (\gamma_n + \gamma_{n-1}) M_0.$$
(2.5)

In view of (1.2) and  $u_n = T_{r_n} x_n$ , we can get

$$F(u_n, u_{n+1}) + \frac{1}{r_n} \langle u_{n+1} - u_n, u_n - x_n \rangle \ge 0.$$
(2.6)

Similarly, we can also have

$$F(u_{n+1}, u_n) + \frac{1}{r_{n+1}} \langle u_n - u_{n+1}, u_{n+1} - x_{n+1} \rangle \ge 0.$$
(2.7)

By  $(A_2)$ , (2.6) and (2.7), we have

$$\langle u_{n+1} - u_n, \frac{u_n - x_n}{r_n} - \frac{u_{n+1} - x_{n+1}}{r_{n+1}} \rangle \ge 0,$$

i.e.,

$$\langle u_{n+1} - u_n, u_n - u_{n+1} + u_{n+1} - x_n - \frac{r_n}{r_{n+1}} (u_{n+1} - x_{n+1}) \rangle \ge 0,$$

i.e.,

$$\|u_{n+1} - u_n\|^2 \le \langle u_{n+1} - u_n, x_{n+1} - x_n + (1 - \frac{r_n}{r_{n+1}})(u_{n+1} - x_{n+1})\rangle$$
  
$$\le \|u_{n+1} - u_n\| \cdot \{\|x_{n+1} - x_n\| + \frac{|r_{n+1} - r_n|}{r_{n+1}}\|u_{n+1} - x_{n+1}\|\}.$$
(2.8)

By the assumption on  $r_n$  we can assume that there exists a real number b with  $0 < b < r_n$  for all  $n \in \mathbb{N}$ . Then by (2.3) and (2.8), we have

$$||u_{n+1} - u_n|| \le ||x_{n+1} - x_n|| + \frac{1}{b}|r_{n+1} - r_n|M_0.$$
(2.9)

Hence, by (2.5) and (2.9) we have

$$||x_{n+1} - x_n|| \le (1 - \alpha_n + \alpha_n \alpha - \gamma_n) ||x_n - x_{n-1}|| + |\alpha_n - \alpha_{n-1}| M_0 + (1 - \alpha_n - \gamma_n) \frac{M_0}{b} |r_{n+1} - r_n| + (|\alpha_n - \alpha_{n-1}| + \gamma_n + \gamma_{n-1}) M_0 + 2\gamma_n M_0 + (\gamma_n + \gamma_{n-1}) M_0,$$

i.e.,

$$\|x_{n+1} - x_n\| \le (1 - (1 - \alpha)\alpha_n) \|x_n - x_{n-1}\| + |\alpha_n - \alpha_{n-1}| M_0 + \frac{M_0}{b} |r_{n+1} - r_n| + (|\alpha_n - \alpha_{n-1}| + \gamma_n + \gamma_{n-1}) M_0 + 2\gamma_n M_0 + (\gamma_n + \gamma_{n-1}) M_0.$$
(2.10)

Let  $h_n = (1 - \alpha)\alpha_n$ ,  $b_n = 0$  and

$$c_n = |\alpha_n - \alpha_{n-1}| M_0 + \frac{M_0}{b} |r_{n+1} - r_n| + (|\alpha_n - \alpha_{n-1}| + \gamma_n + \gamma_{n-1}) M_0 + 2\gamma_n M_0 + (\gamma_n + \gamma_{n-1}) M_0.$$

Then by (2.10), the assumptions of Theorem 2.1 and Lemma 1.3 we know that (2.4) holds, which together with (2.9) imply that

$$\lim_{n \to \infty} \|u_{n+1} - u_n\| = 0.$$
(2.11)

By (1.2), (2.3) and (2.11), we have

 $||x_n - Su_n|| \le ||x_n - Su_{n-1}|| + ||Su_{n-1} - Su_n||$ 

$$\leq \alpha_{n-1} \| f(x_{n-1}) - Su_{n-1} \| + \gamma_{n-1} \| v_{n-1} - Su_{n-1} \| + \| u_{n-1} - u_n \|$$
  
$$\leq \alpha_{n-1} M_0 + \gamma_{n-1} M_0 + \| u_{n-1} - u_n \| \to 0.$$
(2.12)

For  $v \in \operatorname{Fix}(S) \bigcap \operatorname{EP}(F)$ , we have

$$\begin{aligned} \|u_n - v\|^2 &= \|T_{r_n} x_n - T_{r_n} v\|^2 \le \langle T_{r_n} x_n - T_{r_n} v, x_n - v \rangle \\ &= \frac{1}{2} (\langle u_n - v, x_n - u_n + u_n - v \rangle + \langle u_n - x_n + x_n - v, x_n - v \rangle) \\ &= \frac{1}{2} (\|u_n - v\|^2 + \|x_n - v\|^2 - \|x_n - u_n\|^2), \end{aligned}$$

i.e.,

$$||u_n - v||^2 \le ||x_n - v||^2 - ||x_n - u_n||^2.$$
(2.13)

Therefore, by (1.2), (2.3), (2.13) and the convexity of  $\|\cdot\|^2,$  we have

$$\begin{aligned} \|x_{n+1} - v\|^2 &\leq \alpha_n \|f(x_n) - v\|^2 + (1 - \alpha_n - \gamma_n) \|Su_n - v\|^2 + \gamma_n \|v_n - v\|^2 \\ &\leq \alpha_n \|f(x_n) - v\|^2 + (1 - \alpha_n) \|u_n - v\|^2 + \gamma_n M_0^2 \\ &\leq \alpha_n (\|f(x_n)\| + \|v\|)^2 + (1 - \alpha_n) (\|x_n - v\|^2 - \|x_n - u_n\|^2) + \gamma_n M_0^2 \\ &\leq \alpha_n M_0^2 + \|x_n - v\|^2 - (1 - \alpha_n) \|x_n - u_n\|^2 + \gamma_n M_0^2, \end{aligned}$$

i.e.,

$$(1 - \alpha_n) \|x_n - u_n\|^2 \le (\alpha_n + \gamma_n) M_0^2 + \|x_n - v\|^2 - \|x_{n+1} - v\|^2,$$
  
$$\le (\alpha_n + \gamma_n) M_0^2 + \|x_n - x_{n+1}\| (\|x_n - v\| + \|x_{n+1} - v\|),$$

which together with (2.4) imply

$$\lim_{n \to \infty} \|x_n - u_n\|^2 = 0 = \lim_{n \to \infty} \|x_n - u_n\|.$$
 (2.14)

By (2.12) and (2.14), we have

$$||Su_n - u_n|| \le ||Su_n - x_n|| + ||x_n - u_n|| \to 0.$$
(2.15)

Next, we want to prove that

$$\limsup_{n \to \infty} \langle f(z) - z, x_n - z \rangle \le 0, \tag{2.16}$$

where  $z = P_{\text{Fix}(S) \cap \text{EP}(F)} f(z)$ , i.e., we want to prove that there exists a subsequence  $\{u_{n_i}\} \subset \{u_n\}$  such that

$$\limsup_{n \to \infty} \langle f(z) - z, x_n - z \rangle = \lim_{i \to \infty} \langle f(z) - z, x_{n_i} - z \rangle \le 0.$$
(2.17)

Since  $\{u_{n_i}\}$  is bounded, there exists a subsequence  $\{u_{n_{ij}}\} \subset \{u_{n_i}\}$ , which converges weakly to w. Without loss of generality, we can assume that  $u_{n_i} \rightharpoonup w$ . Then by (2.15), we know that  $Su_{n_i} \rightharpoonup w$ . We will show that  $w \in EP(F)$ . Considering that  $u_n = T_{r_n} x_n$ , we have

$$F(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, \quad \forall y \in C.$$

Then by  $(A_2)$ , we know

$$\frac{1}{r_n}\langle y - u_n, u_n - x_n \rangle \ge F(y, u_n),$$

which implies that

$$\langle y - u_{n_i}, \frac{u_{n_i} - x_{n_i}}{r_{n_i}} \rangle \ge F(y, u_{n_i}).$$

Since  $\frac{u_{n_i}-x_{n_i}}{r_{n_i}} \to 0$  and  $u_{n_i} \rightharpoonup w$ , from (A<sub>4</sub>), similarly as in [1], we also have

$$0 \ge F(y, w), \quad \forall y \in C.$$

For t with  $0 < t \le 1$  and  $y \in C$ , let  $y_t = ty + (1 - t)w$ . Since  $y \in C$  and  $w \in C$ , we have  $y_t \in C$ and hence  $F(y_t, w) \le 0$ . So, from (A<sub>1</sub>) and (A<sub>4</sub>), we have

$$0 = F(y_t, y_t) \le tF(y_t, y) + (1 - t)F(y_t, w) \le tF(y_t, y),$$

i.e.,  $0 \leq F(y_t, y)$ , which together with (A<sub>3</sub>) imply

$$0 \le F(w, y), \quad \forall y \in C,$$

i.e., we have  $w \in EP(F)$ .

Next, we predict  $w \in Fix(S)$ .

We assume that  $w \notin \operatorname{Fix}(S)$ . Since  $u_{n_i} \rightharpoonup w$  and  $w \neq Sw$ , from Opial's theorem<sup>[5]</sup> and (2.15), we have

$$\liminf_{i \to \infty} \|u_{n_i} - w\| < \liminf_{i \to \infty} \|u_{n_i} - Sw\| \le \liminf_{i \to \infty} \{\|u_{n_i} - Su_{n_i}\| + \|Su_{n_i} - Sw\|\} \le \liminf_{i \to \infty} \|u_{n_i} - w\|$$

This is a contradiction.

Of course, we can also prove  $w \in Fix(S)$  immediately by  $u_{n_i} \rightharpoonup w$ , (2.15) and the Demi-Closed Theory (e.g., [12, Lemma 1.1] or [11]).

Thereby,  $w \in \operatorname{Fix}(S) \cap \operatorname{EP}(F)$ .

Since  $z = P_{\text{Fix}(S) \cap \text{EP}(F)} f(z)$ , we have

$$\limsup_{n \to \infty} \langle f(z) - z, x_n - z \rangle = \lim_{i \to \infty} \langle f(z) - z, x_{n_i} - z \rangle = \langle f(z) - z, w - z \rangle \le 0,$$

which verifies (2.16) and (2.17).

Finally, we will complete the proof by way of the method, different from that of [1]. By (1.2), (2.3) and (2.13), we have

$$\begin{aligned} \|x_{n+1} - z\|^{2} \\ &\leq (1 - \alpha_{n} - \gamma_{n})^{2} \|Su_{n} - z\|^{2} + 2\alpha_{n} \langle f(x_{n}) - z, x_{n+1} - z \rangle + 2\gamma_{n} \langle v_{n} - z, x_{n+1} - z \rangle \\ &\leq (1 - \alpha_{n})^{2} \|u_{n} - z\|^{2} + 2\alpha_{n} \langle f(x_{n}) - f(z) + f(z) - z, x_{n+1} - z \rangle + 2\gamma_{n} \|v_{n} - z\| \cdot \|x_{n+1} - z\| \\ &\leq (1 - \alpha_{n})^{2} \|x_{n} - z\|^{2} + \alpha\alpha_{n} (\|x_{n} - z\|^{2} + \|x_{n+1} - z\|^{2}) + \\ &\quad 2\alpha_{n} \langle f(z) - z, x_{n+1} - z \rangle + 2\gamma_{n} M_{0}^{2}. \end{aligned}$$

$$(2.18)$$

We know, there exists  $n_0 \in \mathbb{N}$  such that  $1 - \alpha \alpha_n \geq \frac{1}{2}$  if  $n \geq n_0$ . Then by (2.18), we have

$$\begin{aligned} \|x_{n+1} - z\|^2 \\ &\leq \frac{(1 - \alpha_n)^2 + \alpha \alpha_n}{1 - \alpha \alpha_n} \|x_n - z\|^2 + \frac{2\alpha_n}{1 - \alpha \alpha_n} \langle f(z) - z, x_{n+1} - z \rangle + \frac{2\gamma_n M_0^2}{1 - \alpha \alpha_n} \\ &\leq (1 - \frac{2(1 - \alpha)\alpha_n}{1 - \alpha \alpha_n}) \|x_n - z\|^2 + \frac{\alpha_n^2 \|x_n - z\|^2}{1 - \alpha \alpha_n} + 4\alpha_n \langle f(z) - z, x_{n+1} - z \rangle + 4\gamma_n M_0^2 \end{aligned}$$

$$\leq (1 - \frac{2(1 - \alpha)\alpha_n}{1 - \alpha\alpha_n}) \|x_n - z\|^2 + 2\alpha_n^2 M_0^2 + 4\alpha_n \eta_n + 4\gamma_n M_0^2, \quad \forall n \ge n_0,$$
(2.19)

where  $\eta_n = \max\{\langle f(z) - z, x_{n+1} - z \rangle, 0\}$ . We claim

$$\lim_{n \to \infty} \eta_n = 0. \tag{2.20}$$

Indeed, by (2.16) we know, for any  $\varepsilon > 0$ , there exists a natural number  $n_1 > n_0$  such that  $\langle f(z) - z, x_{n+1} - z \rangle < \varepsilon$  if  $n \ge n_1$ , i.e.,  $0 \le \eta_n < \varepsilon$ ,  $\forall n \ge n_1$ . By the arbitrariness of  $\varepsilon$  we know that (2.20) holds.

Let  $h_n = \frac{2(1-\alpha)\alpha_n}{1-\alpha\alpha_n}$ . Then  $\sum_{n=n_0}^{\infty} h_n \ge 2(1-\alpha) \sum_{n=n_0}^{\infty} \alpha_n = \infty$ . Let  $b_n = 2\alpha_n^2 M_0^2 + 4\alpha_n \eta_n$ and let  $c_n = 4\gamma_n M_0^2$ . Then by Lemma 1.3, we know

$$\lim_{n \to \infty} \|x_n - z\|^2 = 0,$$

which implies the completeness of the proof of Theorem 2.1.

**Corollary 2.2** Let C be a nonempty closed convex subset of H. Let S be a nonexpansive mapping of C into H such that  $Fix(S) \neq \emptyset$ . Let f be a contraction of H into itself and let  $\{x_n\}$  and  $\{u_n\}$  be a sequence generated by  $x_1 \in H$  and

$$x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n - \gamma_n) S P_C x_n + \gamma_n v_n, \qquad (2.21)$$

where  $\{v_n\}$  is a bounded sequence in H,  $\{\alpha_n\}$ ,  $\{\gamma_n\} \subset [0,1]$  and  $\{r_n\} \subset (0,\infty)$  satisfy

$$\lim_{n \to \infty} \alpha_n = 0, \quad \sum_{n=1}^{\infty} \alpha_n = \infty \quad \sum_{n=1}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty, \quad \sum_{n=1}^{\infty} \gamma_n < \infty.$$

Then,  $\{x_n\}$  converges strongly to  $z \in Fix(S)$ , where  $z = P_{Fix(S)}f(z)$ .

**Proof** Put F(x, y) = 0 for all  $x, y \in C$  and  $r_n = 1$  for all  $n \in \mathbb{N}$  in Theorem 2.1. Then we have  $u_n = P_C x_n$ . So, from Theorem 2.1, the sequence  $\{x_n\}$  generated by  $x_1 \in H$  and (2.21) for all  $n \in \mathbb{N}$  converges strongly to  $z \in \text{Fix}(S)$ , where  $z = P_{\text{Fix}(S)}f(z)$ .

**Corollary 2.3** Let C be a nonempty closed convex subset of H. Let F be a bifunction from  $C \times C$  to  $\mathbb{R}$  satisfying  $(A_1)-(A_4)$  such that  $EP(F) \neq \emptyset$ . Let f be a contraction of H into itself and let  $\{x_n\}$  and  $\{u_n\}$  be sequences generated by  $x_1 \in H$  and

$$\begin{cases} F(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, & \forall y \in C, \\ x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n - \gamma_n) u_n + \gamma_n v_n, & n \ge 0 \end{cases}$$

where  $\{v_n\}$  is a bounded sequence in H,  $\{\alpha_n\}$ ,  $\{\gamma_n\} \subset [0,1]$  and  $\{r_n\} \subset (0,\infty)$  satisfy

$$\lim_{n \to \infty} \alpha_n = 0, \quad \sum_{n=1}^{\infty} \alpha_n = \infty, \quad \sum_{n=1}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty,$$
$$\liminf_{n \to \infty} r_n > 0, \quad \sum_{n=1}^{\infty} |r_{n+1} - r_n| < \infty, \quad \sum_{n=1}^{\infty} \gamma_n < \infty.$$

Then,  $\{x_n\}$  and  $\{u_n\}$  converge strongly to  $z \in EP(F)$ , where  $z = P_{EP(F)}f(z)$ .

**Proof** Put Sx = x for all  $x \in C$  and  $r_n = 1$  in Theorem 2.1. Then, from Theorem 2.1 the

542

sequences  $\{x_n\}$  and  $\{u_n\}$  converge strongly to  $z \in EP(F)$ , where  $z = P_{EP(F)}f(z)$ .

**Remark** (1) Theorem A (i.e., [1, Theorem 3.2]) is Theorem 2.1 in the case of  $\gamma_n \equiv 0$ . Moreover, some of the methods used in the proof of Theorem 2.1 improve that of [1, Theorem 3.2].

(2) In the case of  $\gamma_n \equiv 0$ , Corollary 2.2 and Corollary 2.3 become [1, Corollary 3.3] and [1, Corollary 3.4], respectively. Hence, the main results of this paper generalize all of results of [1].

(3) In the case of  $\gamma_n \equiv 0$ , we obtain Wittmann's theorem [10] in the case when  $f(y) = x_1 \in C$ for all  $y \in H$  and S is a nonexpansive mapping of C into itself in Corollary 2.2. We also obtain Combettes and Hirstoaga's theorem<sup>[2]</sup> in the case when  $f(y) = x_1 \in H$  for all  $y \in H$  in Corollary 2.3.

## References

- TAKAHASHI S, TAKAHASHI W. Viscosity approximation methods for equilibrium problems and fixed point problems in Hilbert spaces [J]. J. Math. Anal. Appl., 2007, 331(1): 506–515.
- [2] COMBETTERS P L, Hirstoaga S A. Equilibrium programming in Hilbert spaces [J]. J. Nonlinear Convex Anal., 2005, 6(1): 117–136.
- [3] FLAM S D, ANTIPIN A S. Equilibrium programming using proximal-like algorithms [J]. Math. Programming, Ser. A, 1997, 78(1): 29–41.
- [4] TAKAHASHI W. Nonlinear Functional Analysis [M]. Yokohama Publishers, Yokohama, 2000.
- [5] OPIAL Z. Weak convergence of the sequence of successive approximations for nonexpansive mappings [J]. Bull. Amer. Math. Soc., 1967, 73: 591–597.
- [6] BLUM E, OETTLI W. From optimization and variational inequalities to equilibrium problems [J]. Math. Student, 1994, 63(1-4): 123–145.
- [7] TAKAHASHI W. Convex Analysis and Approximation of Fixed Points [M]. Yokohama Publishers, Yokohama, 2000. (In Japanese).
- [8] SHIOJI N, TAKAHASHI W. Strong convergence of approximated sequences for nonexpansive mappings in Banach spaces [J]. Proc. Amer. Math. Soc., 1997, 125(12): 3641–3645.
- [9] LIU Lishan. Ishikawa and Mann iterative process with errors for nonlinear strongly accretive mappings in Banach spaces [J]. J. Math. Anal. Appl., 1995, 194(1): 114–125.
- [10] WITTMANN R. Approximation of fixed points of nonexpansive mappings [J]. Arch. Math. (Basel), 1992, 58(5): 486–491.
- [11] GOEBEL K, KIRK W A. Topics in Metric Fixed Point Theory [M]. Cambridge University Press, Cambridge, 1990.
- [12] ZHANG Shisheng, LEE J, CHEN C K. A problem of nearest common fixed point for nonexpansive mappings
   [J]. Acta Math. Sinica (Chin. Ser.), 2006, 49(6): 1297–1302. (in Chinese)